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Will the outcome of spinning the spinner affect the outcome of flipping

the coin? No.  So the events are independent.



𝑃 𝐴 𝑎𝑛𝑑 𝐵 = 𝑃 𝐴 • 𝑃(𝐵)

𝑃 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑒 𝑜𝑓 2 𝑎𝑛𝑑 ℎ𝑒𝑎𝑑𝑠 = 𝑃(𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑒 𝑜𝑓 2) • 𝑃(ℎ𝑒𝑎𝑑𝑠)

=
2

5
•
1

2

=
1

5
= 20%



Example:  A bag contains 3 red marbles,4 green marbles, and 5 blue marbles. 

One marble is taken from the bag and is NOT replaced.  Another marble is taken 

from the bag.  What is the probability that the 1st marble is red and the 2nd marble 

is blue?

𝑃 𝐴 𝑎𝑛𝑑 𝐵 = 𝑃 𝐴 • 𝑃(𝐵 𝑎𝑓𝑡𝑒𝑟 𝐴)

𝑃 𝑟𝑒𝑑 𝑎𝑛𝑑 𝑏𝑙𝑢𝑒 = 𝑃 𝑟𝑒𝑑 • 𝑃(𝑏𝑙𝑢𝑒 𝑎𝑓𝑡𝑒𝑟 𝑟𝑒𝑑)

=
3

12
•
5

11

=
1

4
•
5

11
=

5

44
= 11.4%



2.  A card is chosen at random from a standard deck of 52 playing cards.  

Without replacing it, a second card is chosen.  What is the probability that 

the first card chosen is a queen and the second chosen is a jack?

𝑃 𝐴 𝑎𝑛𝑑 𝐵 = 𝑃 𝐴 • 𝑃(𝐵 𝑎𝑓𝑡𝑒𝑟 𝐴)

𝑃 𝑞𝑢𝑒𝑒𝑛 𝑎𝑛𝑑 𝑗𝑎𝑐𝑘 = 𝑃 𝑞𝑢𝑒𝑒𝑛 • 𝑃(𝑗𝑎𝑐𝑘 𝑎𝑓𝑡𝑒𝑟 𝑞𝑢𝑒𝑒𝑛)

=
4

52
•
4

51

=
1

13
•
4

51

=
4

663

= 0.6%


